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Note : This paper is of forty (40) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= pkyhl ¼40½ vadksa dk gS tks rhu ¼03½ 

[k.Mksa ^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks 

bu [k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa 

ds mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nine and half (9
1

2
) marks each. 

Learners are required to answer two (02) questions 

only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<+s ukS (9
1

2
) vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What informations are provided by Volume Tables ? 

Write a description of classifications of Volume Tables 

on different basis. 

vk;ru lkjf.k;ks¡ D;k lwpuk,¡ iznku djrh gSa \ fofHké 

vk/kkj ij vk;ru lkjf.k;ksa ds oxhZdj.k dk o.kZu dhft,A 

2. Name the instruments used for height measurement of 

trees. Describe various methods to determine tree 

height. 

o`{kksa dh Å¡pkbZ ekius okys ;a=ksa ds uke fyf[k,A o`{kksa dh 

Å¡pkbZ dh x.kuk ds fy, fofHké fof/k;ksa dk o.kZu dhft,A 

3. Describe the methods for age determination of 

standing and felled trees. 

[kM+s ,oa fxjs gq, o`{kksa dh vk;q Kkr djus dh fof/k dk o.kZu 

dhft,A 

4. What do you mean by the term tree stem form ? 

Describe various methods used to study tree stem 

form. 

o`{k ruk :i ls D;k rkRi;Z gS \ o`{kksa ds ruk :i Kkr djus 

dh fofHké fof/k;ksa dk o.kZu dhft,A 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of four (04) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, pkj ¼04½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Geometric principle 

T;kferh; fl)kUr 

2. Standard rules for breast height measurement 

o`{k Å¡pkbZ ekiu ds ekud fu;e 

3. Abney‟s level 

,cuh ysoy 

4. Factors affecting  weight of wood and bark 

dk”B ,oa Nky dks izHkkfor djus okys dkjd 

5. Crop Volume 

Qly vk;ru 

6. Types of sampling 

lSEifyax ds izdkj 

7. Volume Tables 

vk;ru lkjf.k;k¡ 

8. Increment analysis 

laòf) fo’ys”k.k 
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of half  1

2
 mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk  1

2
vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following statements are True or False : 

bafxr dhft, fd fuEufyf[kr dFku lR; gSa ;k vlR; % 

1. The unmerchantable portion of the tree stem or log is 

called bole.  (True/False) 

rus ;k yës ds fcØh v;ksX; Hkkx dks cksy dgrs gSaA 

    ¼lR;@vlR;½  

2. Stump analysis is carried out to determine the tree 

crown height. (True/False) 

Bw¡B fo’ys”k.k o`{k ds N=d dh Å¡pkbZ ekius ds fy, fd;k 

tkrk gSA   ¼lR;@vlR;½ 

3. Pressler formula is used to determine the volume of 

tree.     (True/False) 

izslyj lw= ds }kjk ò{kksa ds vk;ru dh x.kuk dh tkrh gSA 

    ¼lR;@vlR;½ 

4. The calculation of growing stock by yield tables is not 

as accurate as determined by direct formula. 

(True/False) 
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oulafu/kh dh izkfIr lkj.kh ls dh xbZ x.kuk lh/ks lw= ls dh 

xbZ x.kuk ftruh ‘kq) ugha gksrh gSA  ¼lR;@vlR;½ 

5. Relaskop is used to measure the basal area.(True/False) 

fjysLdksi vk/kkjh; {ks=Qy ekius ds fy, iz;qDr fd;k tkrk 

gSA    ¼lR;@vlR;½ 

Choose the correct alternative : 

lgh fodYi pqfu, % 

6. Pick out the Netwon‟s formula : 

(a) 1 2
(S 4 S S )

6

m
l  

  

(b) S
m

l   

(c) S l 

(d) 2
1

S S / 2 l    

U;wVu ds lw= dk p;u dhft, % 

¼v½ 1 2
(S 4 S S )

6

m
l  
 

¼c½ S
m

l  

¼l½ S l 

¼n½ 2
1

S S / 2 l   

7. Majority of sample plots in India are ...............  . 

(a) Rectangular  

(b) Square 

(c) Circular 

(d) Triangular 
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Hkkjr esaa T;knkrj lSEiy@IykWV dk vkdkj gksrk  

gS 
----------------------

A 

¼v½ vk;rkdkj 

¼c½ oxkZdkj 

¼l½ xksykdkj 

¼n½ f=Hkqtkdkj 

8. Indian Institute of Remote Sensing is located at........... . 

(a) Dehradun 

(b) New Delhi 

(c) Chandigarh 

(d) Bangalore 

Hkkjrh; lqnwj laosnh laLFkku 
---------------------- 

esa fLFkr gSA 

¼v½ nsgjknwu 

¼c½ ubZ fnYyh 

¼l½ paMhx<+ 

¼n½ cSaxyksj 

9. Productivity is : 

(a) Biomass produced in one acre 

(b) Biomass produced in one hectare 

(c) Biomass produced in one hectare per year 

(d) Biomass produced after one rotation 

mRikndrk gS % 

¼v½ ,d ,dM+ esa mRié tSoHkkj 
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¼c½ ,d gsDVs;j esa mRié tSoHkkj 

¼l½ ,d o”kZ esa ,d gsDVs;j esa mRié tSoHkkj 

¼n½ ,d pØkuqØe ds ckn mRié tSoHkkj 

10. The instrument which is used to measure the angle of 

slope is : 

(a) Altimeter 

(b) Clinometer 

(c) Hypsometer 

(d) Abney‟s level 

<ky ds dks.k dks ekius esa iz;ksx esa vkus okyk midj.k gS % 

¼v½ vYVhehVj 

¼c½ DykbuksehVj 

¼l½ fgIlksehVj 

¼n½ ,cuhl ysoy 
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